MPM2DI – Unit 2: Trigonometry I – Lesson 1

                        

      
           Date: ______________

Similar Triangles and Proportional Reasoning
A. Prerequisite Skills: Ratios and Proportions
A ratio is a comparison of two quantities with the same units. When two ratios are equivalent, this is called a proportion .

	i) Using cross-multiplication, prove that the 
following ratios are equivalent:
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	ii) Using cross-multiplication, solve for x:
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                                    b) 7 : 9  =  98 : x




B. Similar Triangles
For triangles to be similar, corresponding angles must be equal.
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Since
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There are three ways that we can tell if a pair of triangles is similar:


1. _________________________________________________________________________________________


2. _________________________________________________________________________________________


3. _________________________________________________________________________________________

Example 1:  Show that triangle PQR is similar to triangle MON. Then find the scale factor that relates the lengths of 

       triangle PQR to triangle MON.








         O



          
         

                                      
 Q




                                   
   15 cm 


  

               12 cm                         9.2 cm                       

                                   11.5 cm    

         P            
  11.6                R            
 M                
  14.5 cm                       N


Example 2:  Elliot’s summer employer asks him to find the height of a tree. He measures the length of the shadow of a metre stick to be 1.3 m and at the same time the length of the shadow of the tree to be 14.8 m.  Find the tree’s height (to one decimal place) using similar triangles. Make a diagram.  

Example 3:  Prove that triangle ABC is similar to triangle DEF.  Solve for CD and CE.
                
                       A                       
                                            E

                                                 
           4.1 cm

                          
      3.6 cm                        
         C                   
           5.4 cm                         

                          
           B                     4.5 cm  
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HW:  p. 460  #1, 6cd, 7cde;  p. 476 #8, 10, 12 
Note: Textbook error in the answers on p. 637: “p. 462” should read “p. 460”
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